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dBm dBu

[dBm]
1[mwW] dB g [mW] = 10logq [dBm]

ImW =10logl= 0dBm
0.ImW =10log0.1=-10dBm
2mW =10log2 = 3dBm

[dBy ]

1u V] dB r [ V] =20logr [dBu ]
11V =20logl=0dBu
21N =20log2=6dBu
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R=R+P, W]

3.01dBm = 0dBm + 0dBm
?dBm = (0dBm) + (3dBm)
?dBm = (0dBm) + (—1dBm)
?dBm = (0dBm) + (—2dBm)
?dBm = (0dBm) + (—3dBm)
?dBm = (0dBm) + (—6dBm)

?dBm = (0dBm) + (—10dBm)
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v(t) = Acos(wt + 0)
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0dBm
50Q

[dBu ]
75Q

0dBm =1ImwW

V., =/50x1x10% = 0.2236V

20logV,, = 2010g(0.2236x10°) = 107dB 1

V., = 75x1x107® = 0.2739V

20logVy, = 2010g(0.2739x10°) = 108.8dB 1 ~ 109dB 1




dB

3.01dBm = 0dBm+ 0dBm
4.76dBm = (0dBm) + (3dBm)
2.54dBm = (0dBm) + (—1dBm)
2.12dBm = (0dBm) + (—2dBm)
1.76dBm = (0dBm) + (-3dBm)
0.97dBm = (0dBm) + (—6dBm)

0.41dBm = (0dBm) + (—10dBm)
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sin(A+ B) =sin AcosB+cosAsnB
cosS(A+ B) =cosAcosBF+sin AsnB

sin AsinB = —%{COS(A+ B) — cos(A- B)}
sin AcosB = %{si n(A+ B) +sin(A-B)}
cosAcosB = %{COS(A+ B) + cos(A— B)}

snA+sinB = 2sin A; BcosA;B
cos A+ cosB = 2cos A+B CcOS A-B
A+B . A-B

COSA—-cosB =-23n >




